$ T AT ANR N ANE ) N ol M} JPEIEE) N IR INIE I W P B EE O

meccanoindex.co.uk

CONSTRUCTION (22

Lo S R R TR S SR SR

S /
-~
“rTveee
~
/\.
= -
S~
)

= |
~

< )
.F(

J

N

% J
e
%

; Ev) a9
i E{ o kygm
J J@.’H 51§ o
. AR 3T -

) Ew 2% BF

~ - 9=
L ):*:Jm
e s JJ
¢ =17

S
—
| —
N

)
meE
7
r
2 BAUTEILE JEWEILS NUR FUR EIN MODELL VERFUGBAR
i
2 HILFE VON ERWACHSENEN KANN ERFORDERLICH SEIN
~2-2- o

MADE IN GERMANY



meccanoindex.co.uk

Stiickliste
1001 Flachstab 2 Loch 4 1301 Radfelge @ 20 mm 3
1002 | Flachstab 3 Loch 3 | 1302 | Radfelge @ 30 mm 2
1003 | Flachstab 4 Loch 6 | 1352 | Achse 65 mm 1
1004 | Flachstab 5 Loch 3 | 1353 | Achse 95 mm 1
1005 | Flachstab 6 Loch, Langloch 2 1361 Achse 95 mm mit Gewindeenden 1
1006 | Flachstab 7 Loch 6 | 1372 | Gewindestift 44 mm 1
1007 | Flachstab 9 Loch 4 | 1374 | Gewindestift 90 mm 1
1009 | Flachstab 15 Loch 3 | 1381 | Gewindestift mit Querschlitz M 4 x 4 8
1010 | Flachstab 20 Loch 2 | 1401 | Stellring 1
1041 Bogenflachstab 2 | 1402 | Elastikstellring 2
1104 | Platte 9 x 5 Loch 2 | 1403 | Wellenkupplung 1
1111 Platte 5 x 5 Loch, zweiseitig abgewinkelt 1 1411 Kurbel 1
1112 | Platte 11 x 5 Loch, zweiseitig abgewinkelt () 1415 | Winkellasche 1
1121 Trapezplatte 3 x 3 Loch 2 | 1421 Reifen 40 x 20 x 5 2
1125 | Trapezplatte 5 x 3 Loch, abgewinkelt 1 1445 | Gummiriemen 2
1147 | Windmuhlenfligel 4 | 1481 | Kegelrad 22 Zahne 2
1153 | Scheibe @ 30 mm 1 1497 | Keilriemenscheibe einrillig 1
1161 Scheibe @ 50 mm mit Buchse 1 1498 | Keilriemenscheibe zweirillig 1
1201 | Bugel 1 x 1 Loch 1 1501 | Schraube M 4 x 6 48
1202 | Bugel 3x 1 Loch 3 | 1502 | Schraube M4x8 5
1203 | Bugel 5x 1 Loch 2 | 1503 | Schraube M 4 x 16 2
1211 Blgel 1 x 2 Loch 1 1511 Mutter M 4 65
1251 | Winkel 1 x 1 Loch 6 | 1551 | Schraubendreher 4 mm 1
1252 | Winkel 1 x 1 Loch, Langloch 4 1552 | Schraubendreher 6 mm 1
1253 | Winkel2x 1 Loch 3 | 1553 | Schraubenschlissel 2
1271 Lagerbock 1 1554 | Schraubenhalter 1
1281 Flachwinkel 4| 1441 Schnur, 1 m 1




meccanoindex.co.uk

;'” . ¥:6 C
1003 flat bar, 2 1121 trapezoidal plate, 2
4 hole 3 x 3 holes

1112 plate, 11 x 5 holes, 1
bent on two sides

-
-
- . - |
(—
— -

— —\ 5"
1004 flat bar, 2 \e" =/ == 7
5 hole
1153 disc, 30 mm 1 1271 bearing bracket 1
/ = diameter
1005 flat bar, 2 = ="
6-hole, slot e
== 1203 bracket, 1 1374 threaded pin, 1
- 5x 1 hole 90 mm
1006 flat bar, 4
7 hole S
S >
1401 sgtting 1 1411 crank 1 1361 axle, 95 mm with
ring threaded ends
Q »
~
1402 flexible setting 2 1251 angle, 6 1501 bolt 2 6
ring 1x 1 hole M4x6
1381 threaded pin with 1502 bolt
cross slot M4 x 4 M4x8 4
1421 tyre, 2 v 0
40x20x5
1403 shaft 1 1503 bolt 2
coupling M4x16

« =

1301 wheel rim, 2 1481 bevel gear 2 1511 nutM4 42
20 mm diameter 22 teeth




1121

meccanoindex.co.uk
1511 =
= =
1501 P (E
- i
C -
1402 =
0 L} sur M
SRRy 1411 3 ey 1251
L' ( i . i ; J
) =. © . 1403
L = M H E
E & 1381 1374 = O A W
; E ' - N s —_ .
noe .~ T
; - W=ie ' s
: S S € J : .
e T ¢ C \ A L S L ) e ’ % :
: ¢ C i C C W QL ) 2 ;
=N (X \\\‘b\,\\\\“‘““\ ; Q=)
|’ it T b \\\\\\“\\ - E ® — T - J
- ;‘\'.. '-‘ .?.Q J_ - 1251 g \\“\“\\\\\\\\“\\ - : - i - L < ) L1
e R Y e ] S W I e R — J /
= g S = 5 = = = i 3 \\“\\“\\ = - - = - = - = / J - £
4 -~ = - = il e J £ e = - ¥ = o4 r/,f J \
= - s - = p— e — il — L o J J . J 5 . e — Y — g —‘(:"‘.;}_.‘p' J J
=T e e e ) 1112 e ) ==
J ‘ - ____:;f/_r’ J J J J J J ‘
- e
J J J - E ) —
- 1005 A\l A ?ff{rff
= 1374 .
1502 J s
1004 €y . ‘ 1003
1006 )! L NG - |
\\ : “J‘- 4 .
3/ 35 ,)fg_/:.r
fﬂ’f{rf‘ ) L ')~
) e
. J
L) )
.. ) ¢ /”)
p 0 P ’ e gy E
10 (S E S
9/ T s | = *J/ R
) 1= L7 !
Uy ) — 1502
0 ) 1503
\ )
r =
1421 v
J
e
) y
J (USS
OL= = Vi ST
J -7 > : 5 L le =~ S
e 00 E
J J — i —_ B —‘;,--v s J —_— 5
—_— f,-ﬂ"' g

=\
L




meccanoindex.co.uk

J
) 080
) 0080

1006 flat bar,

1112 plate, 11 x 5 holes, 1 1401 setting 1
7-hole

bent on two sides ring

1402 flexible setting 2

ring
1009 flat bar, 2 @

15-hole

1010 flat bar, 1441  string, 1Tm 1
20-hole =

== )
-_

= 1301 wheel rim,
o= =2 DY 20 mm diameter 1
<> > = 1281 flat angle 1
52 = C
C C .

C
o

\m'—n .
Ee e~
1121 trapezoidal plate, 2 >

1302 wheel rim, 1
3 x 3 holes

30 mm diameter
1161 disc, 50 mm dia- 1
meter with bushing

J 4 S _‘ - J ,“m|~"-““"""" S 1481 bevel gear 2
-~ J J J ‘_“\uﬁ*\.n\\““ m“\‘\\\\l"\\n“‘ 22 teeth
o 3 _}
1111 plate, 5 x 5 holes, 1 1372 threaded pin, 1 9 T
bent on two sides 44 mm . = /
1374 threaded pin, 1 1497 V-belt pulley, 1 \ - >
90 mm single groove 7 J J
~ e k
1252 angle, 4 - | »
1 x 1 hole, slot ’
1498 V-belt pulley, 1 =
L double groove 5 e
JL 1352  axle, 65 mm 1 e e
\’ —
1251 . angle, 4 1361 axle, 95 mm with 1 W =
1x 1 hole threaded ends

y
= \17
-\
=
=
=
=

1381 threaded pin with 0
crossslotM 4 x 4

1411 crank 1 1511 nutM 4 40 1501 bolt 30
M4x6



1501
1121 C 4 :
C )
1511 T .
ol C ¢
s > : :
| W > & E
Ens 1381
S 1481
1112 Vi /iQ AW ¢
N E& S Ok
i~ TR0
O i b
o BT a4\ e 1252 =
SLepltanT w o e
R T T B o
p— -~ . - — - _’.,.-"-’ J J -

M<===

meccanoindex.co.uk

1361

A

) 00480
\000¥s 0

) 0080

-

BER
) 009
REEER
‘:1‘.

—

| -
—
—

1498

1402

%
_ W

1281

1401

1381

M

1111
M. = :
- i
= T
- =~ — I ek
= S T SR -
* =
J; - =
=

1271

&
VA
. | W
=

1006

M.

.'f{,m_

A
J
)
) )
J
)
91

L R o R N

mmmmmmmmmwmmmmhummmmmw (troe
=

ny
)00
< @
) > ¢
\ 000/
) s

, ow
e 9
\ O .V
=" N ST
— ) -
- - L -
—_ -
- — j —_—
=

-9 9 (e

\‘\- (5
=
W )

p\ -
A
=

) 0089

O © e
J 0y I m

=
O

=N W

=
=

—
>

=
LS
& |
~ A
£
2
=

=~
N
=

0008
o @
) 059 ©
) )
= X0 ’_
== W B\
— .
(=




1001 flat bar, 4
2-hole

1002 flat bar, 3
3 hole

1003 flat bar, 5
4 hole

1004 .flat bar, 3
5 hole

=

1005 flat bar, 2
6-hole slot

1006 flat bar, 2
7-hole

1007 flat bar, 9-hole 4

(
~E

< —

~

1251 angle, 4
1 x 1 hole

1253 angle, 2
2x 1 hole

1201 bracket, 1
1 x 1 hole

1271 bearing bracket 1

1202 bracket, 3
3 x1 hole
4,
0
) J

)
J

-

1125 trapezoidal p]ate 1
5 x 3 holes, bent

-

\\\\5\\1\\““\\““ T - : : : : : =,
Joso2 *%

> ) ) y J
1372 threaded pin, 1 1111 plate, 5 x 5 holes, 1

44 mm bent on two sides

1361 axle, 95 mm with 1
threaded ends

1353 axle, 95 mm 1
1415
S
e

1401 setting

- ring I ~ s

1402 flexible setting = 2 = 1010

ring
1009
1281
1301 wheel rim,
20 mm diameter 3
1421  tyre, 2 1211
40x20x5
1481 bevel gear, 2 1161
22 teeth
1147~ windmill vane 2 1041
'\\\'ns\\\)\\\
1501 bolt 48 1511
M4x6
1503 bolt 2 1381
M4x 16

angular 4
butt strap

flat bar,
20-hole

flat bar,
15-hole

WN

)

) J

flat angle 1

)
bracket, - 1
1 x 2 holes

8 -

disc, 50 mm dia- 1
meter with bushing

curved flat bar 2

L

A

nut M 4 64

threaded pin with
crossslot M4 x 4

meccanoindex.co.uk




E
1009 £ )
m AT )
M. ’r S ) M. = ~m
3 = + g ) ¢ )
- ) 8 )
1010 y 0 )) Ui 1125 12‘02 ~e y 9 i, ~0 Ji-.. 5
) Sl ¢ = o it
100 y 2 ) <DL 1202 ‘ _ = y 2 ) LA = ’) : iy
) ) . | = - ) y . - "“" fir. 3]__
1001 ) ) | | E_= ) : Y, f 2
b 1004 Y ; % ' | = y 2 i - : S ""”
' | | 4 : |1
1005 ‘ y © ) 100 . Lote © ) 1201 ) {4 W
1002 ‘ ) ) 1001 7t - ) ) ) |
‘ |10|07 | m i) y 1202 my_ I/ O\ S & ) ) ) A
: , B0 ' ) ; gl o (e [ S ) 502 < ) ) ) 1001
""9’0' { ! 5 ) ) | I J 2 { el p ) 1002 p!
3 ) 9.4 il O a0 20 F ;
27 .. ) m = 0 | - _m ) 1010
[ 5 i ' i M ) | ) (4 " - ¢ )
n'ffm?. } ) )| ... l’ / 4 | = o )‘ ) <
3oy ) ) . 9 = . ) ) b ) 1009
A / 2 e ! P 9 x ) y 9 ; 1004
) / 2. T ——————— 1511 'J e = : ) < o’ a0 %
40 i A J )i LG | [/
by J B e D | 1271 £ Ree. 1004
My ) = Fei & | : i J VS =7k < J
) o ] E ) Uiy - 1501 \ z | -.:1‘-'*_\ i e -~ 3 _T—— ) ) Uy
o ! —_— = et ey I e ‘ ] ! E
.. ) ) ) ¥ik s ‘ ) i00d 1008 ———— Mo S ‘__f;‘:‘ e e J ) \'.(,,,, =
7 p & ol - e T e Sl ‘ . ‘ 1007
r.rr,,.,f. .’ m@‘ ", ; ”’ﬁr_‘ ; \ i Gl AN s e A —’l l {\\‘ m _ft\ ') S ") . ) Z -
} ) ) ) J ) J._‘ J'.“__-.F— !.. oo ) g - ‘5 iy — 1111 \\\S\' E ) ) ) &
1 208 =y, '*J ' | [ J 1251
A [ 4 = g
| 02 2 &t -
| J ' : = e
=t ‘ | _ 5 .‘VV 1002 1503 1281 & g iy
1041 1251 - A qa15 i L e :
1253 & b 7
: 1211 1251 : 1372
s 9. 4 1041 < .
A ol P, | 1003
E e 1503 gy, | )
| Uiy )
Uity a
2.
1161 1301 ; ) J 0%
L) ) @
=t 1 M 1 )
= it E , ) ) ; ﬂ? ) ﬂa; ’
= 3 , ) ) ) .T"‘E. ) < :
1401 = = 9 8 )
=iy ) ) 48"
=5 )
- - -} ; ) ) b) b)
. = ) ) )
LA E ) ' )
~4 AL ) ) )
m | ) )
J Y ) ) J ) ) y )
r / ')‘-J 4 ‘fﬂ )
AT 2 9.2 ) : D! 1005
» ' ) 470
r rd
24Tol § A 7
[ ; [ ) )
D & ",
.. 5 ) ¢ e ; e 1 E)
g _) Se s :’ 4 T
~ ﬁ'=”3'*4)
) /
AL
— _%_—7
G 1353

meccanoindex.co.uk




1112

084
p 090
p) 0080

=
<
90

1001

1002

1003

1004

1005

1010

1121

plate, 11 x 5 holes,
bent on two sides

poo0ood

00080

) 00900
p00d0
) 00480

790

-
S,

flat bar,
2-hole

-
-~
—

flat bar,
3 hole

=
-
—
-

flat bar,
4 hole

-
—
-
-

flat bar,
5 hole

flat bar,
6-hole slot

flat bar,
20-hole

© ¢ o
© ¢
C

trapezoidal plate,
3 x 3 holes

) 0000

)

) 000
)

)

)

)0

1411 crank 1
)
) J
1281 flatangle 1
) )
J
V)
) ~
-~
~

1125 trapezoidal plate 1

5 x 3 holes, bent

)
)

)
)

1153 disc, 30 mm 1

diameter

r

9 0=

1041 curved flat bar 2

A

X W\)\f‘

1361 axle, 95 mm with 1
threaded ends

-
- T
=
=5

2

T

\ \)\\'\“\“\\
)

1501 bolt 25
M4x6

1502 bolt 4
M4 x8

1503 bolt 1
M4x16

-

~J
1251 angle, 4
1x 1 hole
=
1252 angle, 2
1x 1 hole, slot
Ce
1253 angle, 1
2 x 1 hole
1202 bracket, ™~ 2
3x1 hole
1401 setting 1
ring
1402 flexible setting 2
ring
1403 shaft 1
coupling
AN

1381 threaded pin with
crossslotM4 x4

1511 nutM 4

38

meccanoindex.co.uk

—

) N4
)

6

D

)

; l
)

)

)

. Jm
4 ) y
20 <

L

N P VS NS W ST NV R S ST S LA T SR R =

—)

(U

v

P

e~
(4 "




)
)
) _
) )
) &) 1112
) J
) J
) J
) J 1252
) J
) J M
1010'—“‘) ) o : - _ “_“\\\\.\-
1004 = _o 7 [i8%%
) j L L - \‘k S
. 1511 U plA
) J e
~ ) ) - '
.. 1 ) 1501
gk
’lo )).. ? :
W-‘”Wr“--. i ) .. ’
Rl ),i } N
. D 15k ) .
1252 ..., ) 5. ) J -
S ) ) P E
9. |9 :
= £ P J 5 =
=
1125 ) o E——1503
1253 = < 8
| F_ 1401
"My,
o)
) =LYy
- M, 1361
1002—— oy " € 33 -
W o " < 1502
3 Y 2
) : - . §
. ’.‘_ ~ 1 W-._- 5 lr..
-\\‘)\\\" _; R ) | ) 9. ’ C
- W v L s =
e 1121 e e
fg0z—— == ' O SN A 2l
9 N 1005 i 1502
2 "' .r\ ’-.‘&. -
) ! r ‘_.’_; . mm‘._
TN ) I o)
W . 1281 — )’
- '\\\\“ . ; #- 4

meccanoindex.co.uk

1001

A R CEETEE e Th Tl S ST U S S ST ST T S

) 30009
0909039
) 9 0 9.4

)
)
)
)
)
)
)
)
J
)
J
)
)
)
5 s.
J
i
J
9 )E.
R
) ~ |
-~
Z2i=5gL
==
e

e &0 88t e o 6 9



=)
gl —
e —

1003 flat bar,

1411 crank

bent on two sides

6 1112 plate, 11 x 5 holes, 1
4 hole

1006 flat bar,

1353 axle, 95 mm

. 1352 axle, 65 mm
==

1161 disc, 50 mm dia- 1
7-hole 6 meter with bushing

1007 flat bar, 4 1302 wheel rim,
9-hole >

) &
-
—
—

= 1009 flat bar, 2 1401 setting ring

15-hole

1497 V-belt pulley,
single groove

—

)

)
0000
) 0000
)00
) 0

-

-
-
-
—

)

)
90000
» 00400
) 000
1000

)

1104 plate, 9 x 5 holes 2

)

-

75

-
™

) 00
)
)

)
)
)
A

-
=
=,

)0 99
330070

9

1498 V-belt pulley,
J J double groove

1111 plate, 5 x 5 holes, 1
bent on two sides

rubber belt

)

S

<
\ 7
1203 bracket,

2 1147 windmill vane
5x 1 hole

o

S

1361 axle, 95 mm with

threaded ends

e 30 mm diameter 2

=~ 1010 flat bar

== 20-hole 2

1

-

~

1251 angle

1

7

| —

~
1252 angle, 4
1 x 1 hole, slot
i
1501 bolt 43
M4x6
1381

threaded pin with
cross slot M 4 x 4

4 1511 nutM4 49

meccanoindex.co.uk

— b

1 x 1 hole 6

W




R

: 1006 , T
> 2 - R C
f 3 00— Yo %
o ; I
’ ol B
- ‘. 'u\. G ;
" - s : S ¢ - 3
; : R ik 1003
LA 249 J i ¢ Oy
< ‘ 1203— — = A
Hj0o——— . Lk ;
2 i 10\“'-
L 1006 R ;
E: “ g L Tt
1501 i np? 2l 3
1003 , : atie i e S
112 “ = JEiC) :
- i ; = . v
- . 2
g . ¢ 8 : -A PR
3 \ Y R - L -
r w2 8 '
; - RS b 3 oo \
- 4 b (€ ‘ '\\\\“-' = A L] A "
- . - - - - r > -"\ ]
; T ey -"‘r.&.. DAY ‘ 4 E
e P R e g o | o . = =gt :
{L e et e e o W el o -
L -~ - s - - 1006 T e mhe T -
Ll-\ s A S % [ m e e He s
0k ~ - -
A LLu\l 1511 LL,_ 1 P W
;| 8 k - -
X -
b : 1003 . _\\. =
= L '\ A"
% 2, 8l
. 0 14—
N g ol —<”
S i ’ 1252 — 1 p 3
VAR e )
N S =) 3 b} 3 D
A 3 3
@ Fr A % 3 3
g 29 7 . ) 3 )
// // a2 (Y < Y )
ai/ P o e ) N )
ela - ‘ y © y 2
A ) e 8 . L\ ) ) a4
) ¥
7 UG ¢ b) )
8 4|9 y
S = L > Pt 3 )
N VTS 8 y D )
a1 @ ) o
> AR I ¢ 3 b)
¢ =
/. )i \ \ W
v C e \
L v A i
. . \.} >R
2 R €
= R ¥
: . C R0 r
.
. 2.0 <
J
") 3 ;
; ]
1411
1352 1302 1497
A
“\\3\\
1302

S

meccanoindex.co.uk

1251

007———

L% s ,:.
1 —————" ' ¢

jil']lz

30000
0 )

\
v
L 1007

L

1007
<
W9
> \J
S L
A . 111

1381

=Ny 1381
;NEN\ST\\‘"“ﬁsh ¢ g‘
Sl = = ¢ A -
0=C2. s ‘LS
S ‘)g :
= o ‘H".‘\

' \ ' i

W

s



